ME 18F SIHIAZ At 2 2M 0K

[20133 7924 B3]

< somz IR 165008a 4008]  FuHsd e 230 TR anzuaze
(30.000% &) 29 6,300& & 1808 | =& | X A5 (REsEa+s) 10A1102
1200m 3% 42008 & 1108 = (=6) 1:16.8 1:18.8 (53.0,11%) S
8 49 18007 & 308 NE(Zo+elah) | 1162 | 1:11.2(55.0,9%) g2 M
G STZES gy 120082 108 HE(= 400 | 1:165 | 1127 (52.0.12%) 11A002
= = 130906 1R =241 A 1000 24%
120 =2 HBE %00 ®30I258 1052 530+ B3
2KI(110328) B2 A 24 = £ 4H5425(58%) [14:20% @ 9DHEE 1052 530+ B4
(52)COLONEL JOHN/( )& = 2+0l 204 | st O 0F( 0/ 0/0) @ 4BOIZY 1052 530+1 21
S 410 (0/0/0/0/0) 10F 2 AS2E(515) @ 0EEIMEl 1054 530 A
FEaEs 019 0F DIEZISE MATZEE  [®1AHE 1054 530 A=
EW |52E19 2x=eh 28] 02(HF) ® 6XIXIKHOl 1057 530 &2
HE; +21 03l 0813 @ 5824 1058 490+2 &
9o}t sooooa%(JH ) 130630 2= & 13] 147 -390 -135 / 3C 147 —4C 326
=S E BT 6006 5 3(312) 464KG
e el B R E e
o 130830 1R Z=SAIAF1000 B17% | 130816 1R 2= 34 &1 AL 1000 &4% 130719 5R = A1 AF 1000 B18%
2 &3l 9 &It QEE ERU0 DIOHIAEZ 1:045 520 Ol& |@ 4204 1023 53041 B4 | 9N 1042 540 =2
2KI(110316) B2 2 2 SLHIFIS(104% /15285 (@ BMISA 1050 530 = |@ 12HAM 1027 520 P |@7AZB 1045 530 =&
(52)91 I2HCIOf () 2 A4 i 2t SISOk 0F( 0/0/0) @B5AXYT 1052 530 2 |@OMIE 1051 54041 24l |@ IDEHE 1047 490 82
= 410 (0/0/0/0/0) /0F R 2= AH(2E) @ oreA3 1054 53011 MY |@ 82 1059 530422 |@1OIRSX 1048 550 O
FEams 019 0® DIERAXE (MUTLBASE [®8H010 1054 530 =2 [® 5CHOIOFAI 1:069 53041017 |G102E2] 1:053 54041 2l
28 I52E219 2Feda 15%(;& 223) |©0HBIF 1055 490 A |®6MLIOIZ 1074 550 JI3] |® 482N 1058 530 OIF
FSIESES? o 031 0HIZ @ 3BLHUE 1059 540+2 24 |@I10BEIE 1135 530 FE |@28so@ 1128 530 OIS
oot 33000X*°J(JH ) 30012158l 149-390-131/3C149-4C331 [169-429—155/3C169—4C374 [159—-451—168 /3C 159 4C 345
L E DT 1308302 2+2413] 60 0 6 6 6(6110) 465KG 9009 9 9(910) 480KG 70077 8(8/8) 480KG
e HelB R E RS 1307255 X131 s sanlg
3 = A O A O} (m)s5a0(0.0) |IS0BS0IRFHEAI000RKT% 130726 4R S8 EIAH000 SH8% 1307123R A AL 1000 HI 2 130628 1R =241 AF 1000 217%
= aa - Tow DIOHAEZ 1045 520 0/ |DI0H2Z 1036 570 = |D 10|ZME 1064 530 E4E |D2RE2l: 1056 53042 LA
2KI(110301) B2 £ 24 4184 (66%) 144:285 @EHSEA 1050 530 2 |@I2HAEZH 1036 550 oA |@I2HIAERl 1065 54041 ©4 |@122ELIA 1:058 530+ Q1
(P)BTL(D)UERIHTRANA | HOL 0R(0/0/0) @B5AEET 1052 530 2 |@ 92201 1062 550 =2 |@ 7IIEGE 1073 530 2 |@8ALER 1062 52042
£ 40 (0/0/0/0/0) 0 F A= ASA(529) @ oA YA 1054 5301 MY |@ 4221 1063 530 OIR |@4A3Z 1079 530 S |@ 13428 1:06.2 50041 32|
FTEams 019 0® DR A MATIRYEA  [®eMoit 1054 530 = |®EHSA 1075 530 JIS |®1000I3F 1080 530 B4 |®AHHEA 1065 520 O
BH /22919 2 F=e108 1932(2) © 92|l & 1055 490 A [®822hA% 1076 490+ 2 |® 2522 1082 53041 21A |©® 5022101 1:069 530 Al
SIEER 42 03l 063 @ 3ZofAE 1059 5404224 |@11HR 1077 510 &5 |@OMEA 1004 530 JI2 |@9MEA 1085 530 IS
9h2: 70000% B(IHE) 13090527123 142-398-144 /3C142—-4C316 |149-402—141/3C149—4C342 |140—-440—168/3C 140—4C320 |140-432—160/3C 140—4C 319
S E DT 1308302 D At43| 2002 11(2/10) 490KG 600 65 5(50)478KG 20022 3(9M1) 475KG 10011 7(8110) 500KG
PR e 1308035 £ 2i13] seolg o=y HoEy
E = = 130906 3R =244l A 1000 2H4%
4 ECEC0IE FHE E 0o @ 7AHEROl 1:043 53041 Al
2KI(110247) B2 A2 S4HE53S(120%) /11545 |@ 2IBHEHE  1:05.5 53042 2HA]
()UAZ2(D)EHH O] SHSHOE 0F(0/0/0) @I2E2)=at 1057 530 ©@
= 40 (0/0/0/0/0) (0 F 2=2x7(58) @ 9=018e 1057 520 Ol
FEeEs 019 0F DEERgs MATEES  |®4e2us 1058 530+ EE
EH /2219 2F=eh05] 4Z(ZES)  |® 5262 1:06.0 53042 40|
S ESESE 42 03l 06 @30ty 1063 530 =2
Qb 60000% B(IHE) 13090021231 148-393—136 / 3C 148 —4C 329
S I IEY = 130820923 PR 2 TAHMS | 7007 7 5(311)452KG
HeeER NS 13070621 AL &1 2433
o Qo (= 130823 1R =2 A A 1000 HE
5 Ch Ol OF It ¥ M = %00 R 1036 530 =2
2KI(110227) B2 &t SLHBT0S(184%) /11:965  |@11LIOHCI 1:03.7 530 D13l
(PEEASEH(D)ST2HS aHSHOk 0F( 0/0/0) @ 2CHOIOHTF 1:04.6 530 =
= 40 (0/0/0/0/0) 0 F 2SI E(0E) @ 9ZAIHILI  1:047 490 JI&
REeE4 01E: 0F OEEseMaRZEs  [®aomz 1052 530+ 0@
23 /219 2FER 05 IR ESS) |OI0HEIZa 1058 5304158
IHE; 42 03l 06 @ BRACIZHOI 1059 53041 =4
97124; 30000& 2 (OHE) 13082821531 142-393-138/3C142-4C316
IS E Y 130810 /13| 200 2 4 4(3/11) 466KG
R e
6 OHO| A EIOIXI ZIQIXI (Z)530(4a0) [IP0S16R FHEA1000Ba% 130800 2R FHLA 1000 H10% 130726 2R F B4 Al 1000 B1a
— @ 82 1028 550 HE |M2SIAIOIE 1064 53042 %F | ADIHYS 1:046 5304 QI
2AI(110308) 3= Q% 2A SHMES(64%) 1112 |@1047101 1028 540 0lF |@12USHA 1066 530 =2 |@ SEAEOl 1049 550 Ze
(2)222(2)IR S0 0F( 0/0/0) @ 7R 1036 54041 24 |@ 32| 1068 530 =4 |@8JI®al2 1050 530 =2
= 40 (0/0/0/0/0) 0 F 2SF &4(28E) @ AMZ0 1042 530 A |@I0BE® 1069 530 EAE |@ 22t 1056 530 A3
FEEEA 019 0 DIESTHE /MAKDEE  |®6512L101 1044 550 i |® OOHOIAEN 1071 490+ THE |®11EFOISH 1064 490 &
S 5P 2 F=ai: 85l 156=(2) ® IDIOIAEI 1058 49041 & |® 881 1074 51041 0tk |® THIAER  1:074 52041 &2
S ESES? 42 03l 06 @ BULEA 1065 530 22 |@ 1HOIHZ 1071 53041212 |@D120t0IAEI 1:093 530 OHal
Qb 35000& B(H) 1309182 S 1014 11 251 =351 |144 - 403144 /3C 144-4C 319 |145-410—144 /3C 145-4C327 |152-422—150/3C 152 4C 337
SIS Tn IS 1300114+ £13] 60065 5(6/10) 432KG 50055 5(5/12) 438KG 70077 7(710) 444KG
R 130902247133 s sy
A A 130906 1R 2= 24l A 1000 24%
TEE QMO SHE © o+t D30IEEE 1052 53041 25
2KI(110524) B2 A prat 1 S 4LETE27%) 105 @ 9DHEE 1052 530+1 B4
(S)TWINNG(2) ol of 2 T S0k 0F( 0/0/0) @ 4201220 1052 530+ o1
= 440 (0/0/0/0/0) 0 F & ASASSME) @ DEEIHE 1054 530 CfA
FEeEs 019 0F DAY MATHE)=2dO11AHE 1054 530 &S
S 5P 22105l 1592(20F CA® 6XIXI K0l 1057 530 2
PISIESES? 491 03] 0HIF @ 5HSN 1058 49042 &
FISIES 3ooooz_°4(H ) 13091311 2 &25] 144-395-137 / 3C 144 - 4C 325
SIS IEIE T T 1306142 DHAH 3] 300 33 2(4/12) 488KG
e el m R E xS 130613 x/13]

Mg 133 [2018.09.28]




= E I A R 130906 1R =84 &l A 1000 2t4%
8 Ot = — g3x w10 D30I 1052 5304125
2KI(110542) B2 2 2 £ 0h2635(62%) /1185 @OHEE 1052 53041 B
(R)EUAEART(R)BISH S0k 0F( 0/0/0) @ 420/ 1052 53041 91
= 4H0F(0/0/0/0/0) /0F R =229 @ 2HEIE0 1054 530 &
TESEA 0/1E: 0F OiFRgn s [®1AHE 1054 530 A
EW; (522919 2FEEE05 17322 B4)  |®6KKK0l 1057 530 28
D 29 03l 0HHF @5SE 1058 49042 HE
27424 220088 (H0) 144-392-131 /3C 144 -4C 328
AL HAHD =S 40046 5(2112) 476KG
el E R E RS
d o 130719 1R = AIAF1000 2H8% | 130621 4R =2 Al A 1000 29%
gt ® H = HEHFE @ w00 D22YAE 1055 530 22 |D6m0IA 1052 530 =
2KI(110322) B2 & B2 M SAL1846S(155%) [1:738  |@ 4AMBHIS  1:06.1 53041 B8 |@ SCHOKRZ 1057 530 A
(R)HIPHR) st = SHSI 0L 0 ( 0/0/0) @IOLHHE 1065 530 HE |®3240= 1058 530 =
= 4H0F(0/0/0/0/0) /0F R 2= 2A5(198) @g2nelE 1071 550 JI2 |@ 4R 1067 530 Q1A
TESEA 0/1E: 0F OEERYM/MATYED  |®H2AL2E 1075 5004 EHE |®OHS2X 1071 530 =HE
= 152E919 2FEEel 85 182(ZAE)  |® 199H201 1106 53041212 |®106F 1089 540 A
A, 294 03l 0HLF @6ALTU 1211 530 0/ |@ IHEHE 1006 530 EIS
2Ih2d: 55000% 2 (2 0H) 1308225 E5 2 22223 142-412-149/3C142-4C318 |152—420— 144 /3C152—4C 349
He2EDII=S 130718 2 D} 4163 3003 2 2(3/10) 492KG 60066 7(7/9) 507KG
AR MRS 130629 Kl 2 233| sene
._ o 10 |130906 1R =2 Al AF1000 24%
100 2 % TEZ @AY @ 30t25E 1052 5304185
2KI(1104.06) B2 2 4y EALTA(168% /12612 |@ ODIEE 1052 53041 B
(2)0ILITI(2) 22 CHOIOF G0k 0 ( 0/0/0) @ 420122 1:052 53041 01
£ H0T(0/0/0/0/0) 0F R EEENTED @ 2HEI O 1054 530 &
TEEEA 019 0® DIFA AR [®114HE 1054 530 A
=W 152E919 2F@ens) 15%(@;) ® B6XIXIXOl 1057 530 =2
AR o 03l 0HH @D5HSE 1058 49042 A
b2 90000 B(HE) TR0910S 21014 T1 2 215631 143397 —137 / 3C 143 4G 319
sgeHD =S 130828 EX 22 BAH4G 1001 11(112) 492KG
AR EES 1307312 & X| 2 E53]
130823 3R A A 1000 Bt E
118 I o X 01 E)=ao DIOHAER 1:04.8 53041 Al
2KI(110215) B2 2 24 S ALA1S(85%) 149:195 @22 1049 530 22
(5)21 5101/ 2) B0l 5O 1 ) GHI 0k 0 ( 0/0/0) @ 8OIAHION 1:054 530 EAS
£ H0F(0/0/0/0/0) 0R R 2=a22008 @ 3HMEIR 1064 520 OIS
ZERES 014 0 OEEess /MAtAETE @ 1s2ae 1064 530 =4
=W 152E919 2xEERI08] 2852(2 ) |®60IHI0IE 1071 530 e
DHAHES; 291 08l 0L @ 5RO AE 1073 550 &
23424 2000032 (H0h) 130017271231 145-395-131 /3C 145 —4C 334
=D EIEIn il = 1308262 =010 4 I 231 =531 | 300 3 5 5(410) 463KG
e HeIB R E e 13082320t 2i13|
12 2 o Al 0|2 (B 530(+.0) |I0SS02R FHLUAI000B7% 130607 2R FHLA1000 Bte%h
@BUARA 1041 530 0/ |DOHOIRX 1031 530 &2l
2KI(110342) 8= gt £4h235(29%) (19:65 @ 9HAMNIZ 1046 530 22 |@2w2l2 1046 530 =
() ETFAD)01 A I iSOk 0 ( 0/0/0) @IOMATH 1046 570 =4 |@ 1SLAE 1053 53041 M
£ H0J(0/0/0/0/0) /0R R LS AUF(258) @ 422MA 1057 53041 BB |@ 72 1058 530 &
ZEEEA 019 08 OFEHIAEA/MATIZSE |®3H2IAE 1059 5304142 |®102DII= 1061 530+ S=
e e RE =2¢1:83 130=2(27) ®62TAl 1062 520 Ol |®BHAEZ 1071 520 Ol
DA, 291 03] 0L @ 10I2IXI0F 1066 530 =2 |@32TWAl 1:07.7 520 ZA
22 35oooaa(H ) 130830 = 2 &H 3| 138-411-146/3C 138 —4C317 |146—418—153 /3C 146 —4C 323
CISSIEE NI IEY Y 130829271331 10013 4(619)472KG 4004 55(78) 439KG
e HelE R E e 1307025 & X| 28 5531 Fage
EH AO o 130830 1R A AF 1000 2H17%
13A =2 & 3 MSE =0 DIMAEZ 1045 520 O
2KI(110445) B2 2 2 SAH9TS(126%) /161605 (@ BHISEA 1050 530 =
(2)QIBCIOR)ESEWHE | HZOk 08(0/0/0) @5A==3 1052 530 =8
£ H0J(0/0/0/0/0) /ORI 2S5 H(158) @ 2AHAZ 1054 53041 MY
ZEEEA 019 0 OFER TS MAK(E)SASYO 801 1054 530 =
e R 2FEeBs WD) ® 939/ @ 1055 490 4
DA 29 03] 0B} @ 3Z2HAS 1059 54042 24l
2124 40000& B 130004271331 145-397 - 140 / 3C 145 —4C 320
CIESIEIE I 1308315 XI13] 4004 3 3(310)489KG
LR MRS 13083020t 2113
= Hie o oo |1308303R ZEAIAL1000 217% | 130823 4R T &A A 1000 2F=
142 = 8 X HEE @R020 DIOSHMAR 1045 550 22 |DIRYLAE 1025 530 =8
2KI(110228) B3 &t SAR755(104% 15:6  |@ 3EEHO0l 1052 520 Ol |@10&6tHS 1032 570 o
()T DHEZ (DM 0L 0F( 0/0/0) @ 60IMI0IE  1:060 530 =2 |® 622/0101 1040 530+1 &S
S AF:0F(0/0/0/0/0) /0R R AsE2(18) @ OBTBR 1068 5304222 |@ 7SZ2IEl 1041 520 Ol
TESEA 018 0 OEERE2/MAASL  |®ear0EY 1075 530+ 2@ |® 16tE201 1043 530 DIl
E e e RE 2FEeh0sl MIS(H2S)  |©2BNIY 1077 5304 MY |® deie 1047 530 =
IAHES; 29 03l oHH= @ 70I9l2iY 1078 530 A | @ SHIEX 1074 530 &4
27424 S0000ME(HE) 13083020113l 146-409—-145/3C 146 —4C326 |156—405—145/3C 156 —4C 334
ISEE NI Y 1308292 D} 4193 7007 8 8(49) 425KG 110 01110 11(11/11) 424KG
e el B R E e 13063011 2 33| sy

A2 138F [2013.09.28] =20t S3E NN Bt=Al OS2 E&6HAIJ| HHELICH




